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6

Pوضغطθمئویةحرارةدرجةتحتمثاليغازمنn( mole)كمیةلدینا
.V=16,62Lحجمھافولادیةقارورةفي

الغازعرف-1
الغازضغطعرف-2
TالمطلقةدرجةبدلالةPالضغطتغیراتبدراسةنقوم-3

-1-الشكلفيالبیانعلىفنتحصل

الفیزیائیةالبیاندلةامعأكتب-أ
P ,V,n ,T,Rبینالنظریةالعلاقةأكتب-ب
nالغازمادةكمیةأحسب-ت

12

سرعةبدونAالنقطةمنتنطلقR=20cmقطرھانصفM=2kgكتلتھامتجانسةحلقة
الافقيالمستوىعلىحركتھاوتواصلBالنقطةالىلتصلانسحابیةدورانیةبحركةابتدائیة
طولھوخیطm=100gكتلةلھالديبالنواستصدمCالنقطةوعندفقطانسحابیةبحركة

L=3mالنقطةعندطاقتھامن0,4الىالحركیةطاقتھافتنقصBالنقطةوعندDتلتحم
.الإحتكاكقوىنھمل.Nالنقطةعندنابضحلقةالجملةلتتوقفالكتلةمھملمرنبنابض

Bالنقطةعندللحلقةالحركیةالطاقةأحسب-1
Bالنقطةعندللحلقةالزاویةالسرعةأحسب-2
Cالنقطةعندللحلقةالخطیةالسرعةأحسب-3
Dعندحلقةللجملةالحركیةالطاقةاستنتج-4
عندالشاقولمعالنواسیصنعھاالتيθالزاویةأحسب-أرضنواس-الجملةباعتبار-5

.الكریةتبلغةارتفاعاقصى
وحیدةقوةتمثلھDNالجزءعلىاحتكاكوبوجود-نابضحلقة–الجملةباعتبار6-6

F=5Nللمسارموازیةللحركةمعاكسة

.للنابضXتقلصقصىیحققھاالتيالمعادلةاستخرج-أ

تبلغھارتفاعللأقصى) 1/10(عشرمساويXالنابضتقلصیكونحتىKثابتقیمةأحسب-ب
mالكریة

ھل ھذا ممكن عملیا؟؟؟-ت
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1-الشكل -

:یعطى
g=9,8N/Kg

الحلقةعطالةعزم
J=MR2/2

بخدة:الأستاذ
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كِي ندْيِرْ ننْسفْ بالونة 
ما ندخل فيها بلا
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نقطة2
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